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7 Ak

N FREAL

1. y=(1-x)e?

2. x=0.02cos10¢

#N\E

SR 8-1

73x+2

X

X

1. (1) 10; (2) 5;

(5) -260;
2
x==
2. (1) 7;
_9
Y77

(6) 8;

@ |

Sef

3x

(3) sinacosff—cosasin B ;

(7) -9;

x1=6
%) 210,

(8) —2abc.

(4> 0;



xlzi(b+c—a)

(3) Jy=2; 4) x2=2Lb(0+a—b).

1
x3=—>(a+b-c
3 20( )
S]@ 8-2

(1) 164; (2) 3a—b+2c+d; (3) 70; (4) =2; (5) -24; (6) 312.

S] & 8-3
=3
xy =1 i
1 .X'2=—4
1. (1) dxy=2; ()
X3 = 1
X3 =
X4 =

l. a=0,b=3,c=-3,d=30

7 5 14 1 1 0
2. A+B=(2 11 2|, B—-4A4=|0 5 0],
10 12 - 2 2 -4
17 12 35 1 0 7
34+2B=| 5 25 ,34-2B = -7 1
24 29 -13 0 7
14 3
3. (D j; (2) =|7 14 10|; (3) (10);
24 5
2 3 1
o2 2 -4 00
4) |2 —41; 5 ; (6) .
1 -2 0 0
-3 -6
1 2 -1 0o 2 -1

4. AT =2 3 o, BT =|1 -1 -1
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SN
N

GRS ez

-2 0 0 -6
AT BT =13 2 1|, AT.BT=|3 1 -5/,
5 6 —4 5
6 6 -3

ATy =8 13 2.

—
o0
(9]

S @0 8-5

1. (1) R(A)=2: (2) R(A)=3: (3) R(A)=3.
xlzl

Xy, =0
2. {72 .
X3=—1
X4=—2
3] @ 8-6

1. A”=2; A12:_31 A13:21 A21:61 A22:_61 A23:21 A31:_41
A32:51 A33:_2.

1 3 =2
alo| 3 5 2
2 2
11 -1
1 -4 -3
2. () A =1 -5 3
1 6 4
-2 2 -1
3
1 1
(2 4 '=[1 = o0
3
» 1y
3
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—. FluiE
1. X 2. X 3. 4. X 5. X
BNy T

x=cos(f—-a)

{y=sin(ﬂ—a)

P G P P s R

W

[7 j [1 ?
4.
-1 3 -1 2
AT UL AT P
. VL ATEL A ATHEL B AN

(2o (o )

. RAFAL
2
7

AN W

3

1. C .
6. C .
. A

1. (D 23 +y%): (2 22

2. (D Z — —11;
4

3. y»y=30.

C 3. A 4. B 5. B
D 8. C 9. B 10. A

(3) 1.
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